SOL Warm-Up

Graphing Calculator Active

A.14a  Solving quadratic equations

	1. What are the solutions of

 x2 + 5x + 6 = 0?

A   x = -2 or x = -3

B   x = 2 or x = 3

C   x = -6 or x = 1

D   x = -1 or x = 6

2. What are the solutions of 

x2 - 15 = 2x?

A   x = 0 or x = -2

B   x = -5 or x = 3

C   x = 0 or x = 2

D   x = -3 or x = 5

3. 
What are the solutions of x2 = 7x?

A   x = 0 or x = -7

B   x = 4 or x = 3

C   x = 0 or x = 7

D   x = 7 only

4. 
What are the solutions of 2x2 = x + 3?

A   x = -3 or x = 2

B   x = 3/2 or x = -1

C   x = 3 or x = -2

D   x = 3 or x = -1
5. What are the solutions of

 x2 + 11x + 30 = 0?

A   x = 2 or x = 15

B   x = -5 or x = -6

C   x = -15 or x = -2

D   x = 6 or x = 5

6. What are the solutions of x2 - 30 = 6?

A   x = 0 or x = -6

B   x = 6 or x = -6

C   x = 0 or x = 6

D   x = -6 only


	7. 
What are the solutions of x2 + x - 20 = 0?

A   x = 5 or x = -4

B   x = -5 or x = -4

C   x = 5 or x = 4

D   x = -5 or x = 4
8. What are the x-intercepts of the graph of 2x2 - 5x - 3?
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9. What are the x-intercepts of the graph of 4x2 - 4x + 1?
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10. 
What are the x-intercepts of the graph of 9x2 - 1?
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